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SHM2E5H188 (AH)

@:E3::) (BT : kg )
FRSETEAR ==V H 2 5 1B Z B fm &
HE 238 S ROAH 247.8 644 594
UALhH 183.0 1,069 669
XAOLA 137.1 360 50
JUH LA 1,028.6 261 20
LEHLA 57.7 294 20
FHELS LA 477.5 460 101
E=X 563.4 466 169
=FHLA 276.2 133 20
V) \F 63.1 42 20
L0 55.7 52 23
HSXH LA 138.4 289 20
TISHATH 50.3 49 20
N 138.2 123 20
<)X 47.5 39 21
TIAITAF A 213.4 70 20
F+77>39 1,211.2 183 20
HFHS 78.3 60 23
ALY 190.1 3,989 350
VAXTY 695.4 794 573
AXF 209.6 269 20
dAXHYT 240.0 600 39
2O0F 339.9 233 20
INH S 6,642.4




@:E3::) (BT : kg )
FRSETERE mig H = = 1B Z B fm &
HE 238 <73 214.7 679 369
== R 583.6 1,059 1,000
=X451 53.0 519 100
7H+45 7 6,238.8 327 100

T2

13,732.5




@:E3::) (BT : kg )
FRSETERE mig H = = 1B Z B fm &

BEERXFE 1098 | HL1 384.5 301 101
XA LA 377.1 660 100
124 118.5 229 50
JUH LA 274.0 217 20
LZHLA 81.7 260 100
AAIH LA 180.1 1,100 740
E=X 933.1 480 101
e 44.8 461 50
>0OX/)VUlL 370.6 850 429
XAV 57.4 1,739 301
ESWYXHTZ 85.6 569 190
JdEHAN 198.3 92 52
F+77>39 471.9 185 43
HFHS 89.2 44 20
AXF 172.7 288 169
ERVHA 40.7 239 177

muig 78 AXF 1,249.6 268 201

#]D 138 >0OX)VL 348.4 880 479
XXVl 95.0 590

Ne 208 XAV 90.3 1,739 569
ESWYAHZ 45.8 569 330
EXTYRS 180.9 172 164

REE 258 dp=h 252.0 400

SEt8=E 6,142.2




[;Efa] (BT ¢ kg )

E i miEH 2 = B Z 1B m =
HE 23% <7Fd 847.3 700 450
EEXFE 109%|>HL 181.8 200 150

RZF 210.3 350 300
<3BLA 123.7 800 200
£S5 5,300.6 600 400
<A 117.7 800 400
mUIA 7€ AXF 309.4 350 330
<A 42.6 800 600
®0 33% ES % 653.5 600 300
he 20% <40 48.9 600 450
K 3% 7oE 6.2 7,000 4,000
CEE 7,842.0




